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I x mwn: validity of a va given with a stated exception — “you are permitted to all 11595 RHR”

a

b

258 7. valid 02

oo invalid V3

i Resolution: he should take it back and give it to her without stating an exception

ii ~ However: if it was a written exception, it is invalid — even if he erases the exception

I Analysis of dispute

a

b

Possibility 1: is the word RYR to be understood as “pin” (besides) and that’s where 1127 disagree — as it is a V32 9V
i But:if he said min %y (as a condition) then they would concede that it is valid as in any other condition, OR
Possibility 2: is the word R9R to be understood as “min %y” and that’s where 8™ disagrees
i But:if he said yin, "1 would agree that it is invalid as he left a vya 9V
Answer (82227): from R:2> DY — DM YV RYR DY PROV'N DNAN Y3 — must mean “pPIin”
i Argument: cannot be a condition of Y%7’ 'na nrmv, besides which n»3 'na don’t have nrmv per v. 1
Observation: our nwn does not follow the version of N7’ 72 *0v "7, who interprets their dispute as about nn %y
i N"sreason: just like any other condition on a vy, it is valid — he permits her to all but »n%a

1 par distinguish between this and any other 'Rin —no other 'Rin comprises a Va1 VY
ii  But:if he said "pwn”, all agree that it is invalid
Our mwp. situates the dispute as being about "p1n” (per R117) — what is X"’s reason for validating?
i Answerl (’8» ”): v2 — even if he only permits her to one other man (InR w’X) — considered divorced

1 pa7interpret WR as meaning any man, not 2 man
ii  Answer2 (727 ”9): v3 — even if she is only divorced from her husband - invalid to n1na (2 o1 is valid)

1 a7 the prohibition to 072 is distinct from the validity of the v)

III  Rar’v’s query: how would this be applied to PvI1Tp (1198% R5R *5 NVTIPN NR M0 —i.e. ™MYa is not “off-limits” to her)

a

Note: 132271 X" may not maintain their positions
i~ perhaps he only validates vi as he has a 102 on which to rely; but wy1p requires a proper 1p
1 Orperhaps: due to v2, he would apply those ’p10a to pPv11p and validate
ii ;237 perhaps they only invalidate because v requires full excision “nin»y” — and that’s missing;
1 But: poypp requires just any (minimalist) 1p
2 Or perhaps: due to v2, they would apply limitation of pv» to pvrmp
Answer (Kax “1 himself): both maintain their positions per v2
Theoretical application of Nax ’7's conclusion (»22X): (A, B and C are brothers)
i If: A was vpn her “besides B”, then B was w1pn her “besides” A
ii ~ Then:both A and B died
iii Application: C would perform m11» and it wouldn't fail due to o'nn »w nwr
1 Reason: B’s pwymp did not impact her relationship to A
iv  Question: what would be a case of D'nn ”NY NWKR?
1 If: A was wipnher besides B, then B was w1pn her without condition
(a) Because: A’s Py 1p banned her on everyone else, and B’s banned her on A
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v 7aN’s query (based on the above): what if he divorced her “besides A and B”
1 And then he added: (you are pemitted) “to A and B” - is this valid?
(a) Lemmal: he now permitted A and B and all men are permitted (= valid)
(b) Lemma2: he now permitted A and B but conversely prohibited everyone else (2 invalid)
(c) Ifwe accept the former: what if he only singled out “A” in his 2"d statement?
(i) Lemmal: he intended both A and B — he mentioned A as he was the first mentioned in the exclusion
(ii) Lemma2: he only intended to permit A and B is still “out” >invalid va
(iii) If we accept the latter: what if he later permitted only B?
1. Lemmal: he intended both and mentioned B as he was the last name he mentioned (=2>7w> v3)
2. Lemma?2: he intended to permit only B (2invalid)
(iv) »wx 27 on that last case — if he said “also B” does that mean “besides A” or “besides everyone else”?
1. Response: 1pn

IV n-x:0 pvi ®naon (with variations) recording the responses of 4 students of 919 1 to his ruling (after his passing)

a

1970 ’7. if the divorcee went and married the brother of the excluded man and he died
i Then: doesn’t his exclusion uproot a mxn in the nMn (can’t have 012» as the v didn’t permit him to her)
2925377 'p17 /7. in all cases of marriage, if she is nIMn to one, she is nIMn to all; if "R to one, NMoR to all
»7anT. the NN requires “excision” — but she isn’t cut off from her husband re: the exception
y”1.if she went and married someone else, had children, then was widowed or divorced and married the exception
i Then: the va would be retroactively invalid and her children would be nmn
Y71 (second argument): if the exception were a jn3 and her divorcing husband then died
i Sheis then: a widow in relation to the exception and a divorcee in relation to everyone else

1  But still: she would be nm0oR to the jn3 because of her “divorced” status

2 Then: we would reason via v'p — if pwy1, which is “light”, forbids her to the 1n3

(a) Then certainly: v'& nWR, which is more severe, would ban her to any man

pw177 1. we can't argue against the “lion” after his passing
Observation (#37): each of these objections can be blocked, except for y”ar1’s
Support: "oy "1 approved of »”aR’s argument over all the rest
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